EARAZROREIERT — 2 N—XBISY —F 20141838 (£) 11[@IIB3H

IPRR =i4s5 C1 = 5%—M (xwlw | mEmml - |5 5 w8
[A&4] 1 7% :2,000,000  ~ 23 :600,000 M . 33 :400,000  ~ 4 % :240,000 @ . 5 7 :160,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 5| 7LysaxA b #H 6 %Jslsl% 1:43.3 1-1-1-1 |409| — | 5 | 529 iiﬁ— (11
. (=) B
R:T5ysk—s BOKUIIIY 02| Somiss
o1l | rrIzxes # o6 | Ramse (1:43.3) 9-9-8-7 |38.9| — | 10 | 487 ﬁ;ﬁg (1lies)
. TR SHER
R:F—TNTN—h BFATRKSH ’ (43) = &S
_ 44 | SEfE— 1:43.6 5-5-6-4 | 40.3| — 7 498 | BAB— (&)
3 711:;§2317/W\“.F - 56.0 1 1/2) o) | () RERE
: FAN—bt B:XA—-FFT4T2R Hi#E FA
4 4| TVETVU-X # 5 | PET 1:43.7 8-8-7-7 |39.6| — | 3 | 447 %’;;',?Ij] (#afE)
’ (172) STIBEA
R:ZFpE—¥A-AK B:IUEYILX S ey e
— AN o5 | EEREA 1:43.8 2-2-2-2 |41.2] — 1 504 | REERSSE (J11E)
507/12| 71— LATA >~ 5.0 (3/4) oS
RT-NRFAYLF— TR Ey R #9) | il Eakis
6 o| FE/ 4y > 5 ;%5%5%’6 1:44.0 4-4-3-5 |41.1| — 2 457 Q$£§ (1)
. (3/4) %
RS- GHELY BiAIO-YrXIs @3 Easg
-3 o5 | BBXE 1:44.0 7-7-4-6 | 40.9| — 6 472 | BAE— (&)
71813/ =>/7>7>%) 56.0 ) Y-,
LVLRUSURIR BiF RS O iy
AV # o5 | B 1:44.1 3-3-4-3 |41.2| — | 8 | 493 |fEAAKL (llid)
8158 Zf;,]l;_) e s 5.0 (7€) o | (B) 2= hETHS
: FUIY BJIlE—-T BEHHS
s o7 | RIGERD 1:445  |12-11-12-11139.5 | — | 11 | 461 | E2E— (1K)
9|814 TTL=PE~ . A55.0 @ o |EEE=
L7 RYA4¥ R B:214%70-5 HH BE
L HFYLL R H 6 gﬁémﬁlﬁ#ﬁ 1:44.7 1-12-9-9 |39.9| — | 13 | 453 L‘Eg"é; (11tes)
. ) o
R:AvANSI)— B:IXTFaY (-5) * 7 245
YISIESR # 5 5%’%%2 1:45.2 10-10-11-10| 40.4 | — | 14 | 505 ;Zfﬁ%)_{(“l%)
. (2 1/72) Bl
RHFISTLIFU b BHITTI YL 0| sraniis
ELY H 6 15%3%15%3 1:453  |14-14-13-13/39.5 | — | 12 | 498 Eggi (Ga#n)
g (1/2) =
T4 N=h2hN)— B:TN—TzVIT #2) BH #E
- R AaAFIsE 1:45.3 13-13-14-12| 39.5 | — 9 451 | tEZE (1)
ZRA)=X 5 a
. (NF) RIS
L TSATLXEA L BRFAREHFSS 00| sess
o S L3Rt 1:49.7 6-6-9-14 |45.4| — 4 495 | ERMMESZ (11ED)
NIVEZ RYUT 5 a JVE:
: (21 4) () NWEL N T7—L4
QT TAFA =TT BANEY RAR A= D P C

@ 11— —EBIRfL

12—+— |5,12,8,9,11,3,13,4,1,10,2,14,7,6

23—F+— |5,12,8,9,11,3,13,4,1,10,14,2,7,6

3a—7— |5,12,9,(8,13),11,4,1,(2,3),10,14,6,7

43—+— |5,12,8,11,9,13,(1,4),2,10,14,7,6,3

[ F/N=5

BB 5 700 | | 741 K 1-5 1,770 | | # = 1-4 8,370M | | 3EE 1-5-11 28,040

B R 5 290 5-11 1,560/ | | # B 4-1 17,920 | | =& 5-1-11 169,670/
1 570M 1-11 2,530 | | B & 1-5 5,080/
11 440 BB 5-1 11,500/

ABICOVWTRDTEEERROODE. TR LIV,



